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PHYSICS

1. When vector A is multiplied by a scalar
number -2, then

1) The magnitude of vector will be doubled and
the direction will be same

2) The magnitude of vector will be doubled and
the direction will be opposite

3) The magnitude and direction of vector
remains same

4) The magnitude of vector will be halved and
direction is reversed

2. The figure shows velocity —time graph of one
dimensional motion of an object. The shaded
area represents

<—>

time —
1) Momentum
2) Acceleration
3) Distance travelled
4) Speed

3. Two bodies of masses m and 4 m are moving
with equal linear momentum. The ratio of
their kinetic energy is

1) 1:8
2) 4:1
3) 1:1
4 1:2
4. In concave mirror the object is placed

beyond C. Then the nature and size of the

image formed is

1) Real, erect and diminished

2) Real, inverted and diminished
3) Virtual, erect and magnified
4) Real, inverted and magnified
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5. Assertion (A) : The phenomenon of total
internal reflection occurs only when the

incident light ray travels from denser medium

to the rarer medium.

Reason (R) : When the light ray travels from
denser medium to rarer medium the refracted
ray bends away from the normal.

Considering the above

1) Both A and R are true and R is the correct
explanationto A

2) Both Aand R are true and R is not the correct
explanationto A

3) Both A andR are false

4) Ais false and R is true

6. Two bodies of masses 2 kg and 16 kg are
separated by a distance of 4 m. The
gravitational force between these two bodies
is (G = 6.67 x 10-" Nm2 kg2

1) 6.67x10°'"'N

2) 13.34x107""'N
3) 20.01x107""N
4) 26.68x107'"N

7. The ascending order of frequency of the given

electromagnetic waves is

1) IR-rays, Visible-rays, UV-rays, X-rays,
Gamma rays

2) IR-rays, UV-rays, Visible-rays, X-rays,
Gamma rays

3) Gamma rays, X-rays, UV-rays, Visible rays,
IR-rays

4) Gamma rays, X-rays, Visible rays, UV-rays,

IR-rays
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8. To prepare a compound microscope the type
of lenses used are
1) Eye lens is convex lens of comparatively
lower focal length and object lens is convex
lens of comparatively higher focal length
2) Eye lens is concave lens of comparatively
lower focal length and object lens is concave
lens of comparatively higher focal length
3) Eye lens is convex lens of comparatively
higher focal length and object lens is convex
lens of comparatively lower focal length
4) Eye lens is concave lens of comparatively
higher focal length and object lens is concave
lens of comparatively lower focal length

9. Assertion (A) : Due to variation of pressure
speed of sound does not change.

Reason (R) : The variation of pressure is
proportional to variation of density.

Consider the above

1) Both Aand R are correct and R is the correct
explanationto A

2) Aiscorrectand R is the wrong explanation
to A

3) Both Aand R are wrong

4) Aiswrong and R is correct

10. When 1 mg of matter is converted into
energy, the amount of energy released is

1) 90 J
3) 9x10°J

2) 9x10°J
4) 9x10"°J

11. If the temperature of sun is doubled, the
energy received by the earth increases by

2) 8times
4) 32times

1) 2 times

3) 16 times
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12. The circuit diagram which shows the
conversion of both the half cycles of AC into
DC is (D, and D, are diodes, R, — load
resistance)

1) AC
input

> L

4) AC T
input Z  DC output

13. In the given circuit the effective resistance
between A and B is

3Q 3Q
ww MW
Ae—— L B
AW
3Q
1) 90
2) 6Q
3) 15Q
4) 20
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CHEMISTRY

14. Assertion (A): ‘Ge’is a better semiconductor
than ‘Si’ but ‘Si’ is widely used than ‘Ge’

Reason (R) : Structure of ‘Si’ crystals cannot
be damaged as easy as that of ‘Ge’ at higher
temperature

1) AandR are false
2)
3) Aand R are true
4)

Ais false and R is true

A is true and R is false

15. The atoms having the bigger size among each
of the following pair are

i. Mg (At. No. 12) or Cl (At. No. 17)
ii. Na(At.No.11)or K(At. No. 19)

1) Mgand K 2) MgandNa

3) Cland Na 4) Cland K

16. The highly significant isomers among the
following compounds are

A. Methane
B. Propane
C. Butane
D

. Hexane
1) Aand B
3) Band C

2) AandD
4) CandD

17. When the universal indicator solution is
added to three unknown colourless solutions
P, Q and R they change to Blue, Violet and
Orange colours respectively. The increasing
order of the pH values of these solutions are

1) Q>R>P 2) R>Q>P

3) Q>P>R 4 P>Q>R
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18. Only selected steps of silicon preparation are
jumbled below after inserting few irrelevant
steps. The option with correct order of only
right steps is

a. Heat the fire clay crucible
b. Mixture of silica and magnesium
powders are taken in the fire clay crucible

Water is added to the crucible

Crystal form of silicon is obtained

Hydrofloric acid is used

Amorphous form of silicon is obtained

abde 2) bcef

) bade 4) baef

-0 20

w —

19. An element reacts with water to form a
solution which turns phenolphthalein
solution pink is
1) S
3) C

2) Ca
4) Ag

20. The equation
MQ(S) + CuO(S) - MgO(S) +Cu(5)

represents

a. decomposition reaction
b. displacement reaction

c. combination reaction

d. double displacement reaction
e. redox reaction

1 2) candd
3

) aandb
) bande 4) dande

21. Select the correct option that confirms the
chemicals taken in the test tubes A and B on
the basis of the following statements related
to its properties.

Statement (A) : Chemicals of ‘A’ gives burning
taste and ‘B’ has the smell of vinegar.

Statement (B) : Chemicals of ‘A’ turns blue
litmus paper to red and ‘B’ gives brisk
effervescence with sodium hydrogen
carbonate.
1) Ahas ethanol and B does not have ethanoic
acid
2) Adoes not have ethanol and B has ethanoic
acid
3) A has ethanol and B has ethanoic acid
4) A has ethanoic acid and B has ethanol
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22,

23.

24,

25.

26.

The solution to be mixed with lead nitrate to
obtain yellow precipitate is
1) Potassiumiodide
2) Potassium sulphide
3) Potassium nitride
4) Potassium chloride

An element ‘X’ forms two oxides ‘XO’ and
‘X0,’. The oxide ‘XO’ is neutral but ‘XO,’ is
acidic in nature. The element ‘X’ is

1) Sulphur 2) Calcium

3) Hydrogen 4) Carbon

The type of the bond in the compound XY
where X and Y belongs to 1stand 17t groups
of the periodic table respectively is

) Hydrogen bond
2) lonic bond
3) Polarbond
4) Covalentbond

The organic compounds, whose both melting
and boiling points are either positive or
negative values only
a. Methane

b. Trichloromethane
c. Ethanol

d. Ethanoic acid

1) aandb

3) aandd

2) bandc
4) candd

The characteristics and its trends of certain
range of elements in a periodic table are
matched. The correct option is

a. Electro negative i. Decreases
character from
‘Na’ to ‘Al

b. Non metallic ii. Remains constant
characterfromFtol

¢. Number of valence iii. Increases

electrons from

Be to Ca
1) a—ii,b—1i, c—iii
2) a—iii,b—ii,c—i
3) a—ii,b—iii,c—i
4) a—iii,b—i,c—ii
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27. Match Column - | with Column - Il and
identify the correct answer
Column -1 Column - 1i
A. Virus i. Ringworm
B. Bacteria ii. Filariasis
C. Protozoa iii. Tetanus
D. Nematoda iv. Sleeping sickness
v. Polio
1) A-ii, B-v, C-i, D-ii
2) A—iii, B-iv, C-v, D-i
3) A—v, B-ii, C-iv, D—ii
4 A-i, B-i, C-v, D-ii

28. If the sebaceous glands are not functioning

29.

30.

Downl oaded

then

1) the body will not be able to regulate the body
temperature

2) the skin will turn darker with more melanin
3) the hair will fail to grow

4) the skin will turn dry and rough

The joint between humerus and ulna that
moves in one plane only.

1) Gliding joint

2) Hinge joint

3) Pivot joint

4) Ball and socket joint

Read the following statements and select the
correct option

A.
B.

It is a colourless, highly acidic liquid

It contains an enzyme called pepsin

It kills any germs which may have entered
along with the blood

It converts protein into peptides
Pancreatic juice

Bile juice

Gastric juice

Saliva

10
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31. Assertion(A) : Colour blindness is more
common in males than in females.

Reason(R) : Colour blindness defect is
due to dominant genes which occur in the
‘Y’ chromosomes.

Select the correct option from the given

alternatives.

1) ‘A’is true and ‘R’ is false

2) ‘A’is false and ‘R’ is true

3) Both‘A’and ‘R’ are true and ‘R’ explains ‘A’

4) Both ‘A’ and ‘R’ are true but ‘R’ does not

explain ‘A’

32. Study the labelled diagram below and select
the correct option.

1) A. Medulla B. Cortex

C. Renal artery D. Renalvein
2) A. Cortex B. Medulla

C. Renal vein D. Renal artery
3) A. Cortex B. Medulla

C. Renal artery D. Renalvein
4) A.Medulla B. Cortex

C. Renalvein D. Renal artery

.conml
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33. Read the following statements and select the

34.

35.

36.

correct option.
A. Oxytocin causes constriction of uterus
muscles during child birth

B. Insulin stimulates deposition of extra
glucose of the blood as glycogen in liver

and muscles.

‘A’ is false ‘B’ is true
‘A’ is true ‘B’ is false
Both ‘A’ and ‘B’ are true

Both ‘A’ and ‘B’ are false

A plant that shows viviparous germination.
2) Rhizophora

4) Greengram

1) Greenpea
3) Bean

Identify the correct statements about

photosynthesis.

A. Mesophyll cells in a leaf are the principal

centre of photosynthesis

B. Splitting of water (H20) molecules into

hydrogen and oxygen ions in the

presence of light is called polymerisation

Conversion of glucose into starch is

called photolysis

D. The electrons are used in converting ADP
into energy rich compound ATP by
adding one phosphate group Pi is called
photophosphorylation

1) ‘A’and ‘D’ only 2) ‘A’and ‘C’ only

3) ‘B’and ‘C’ only 4) ‘C’and ‘D’ only

If the common salt is sprinkled on lawn grass,
it is killed at the spot. This is due to

2) Adhesion

4) Imbibition

1) Plasmolysis
3) Capillary action

.conml
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37. Read the following statements and select the
correct option.

A. Auxins help to prevent fruit and leaf drop
at early stages

. Abscisic acid promotes seed germination

= @

N
=N - N

‘A’ is false and ‘B’ is true
‘A’ is true and ‘B’ is false
Both ‘A’and ‘B’ are true
Both ‘A’ and ‘B’ are false

R

38. Cretinism and myxedema are due to
1) Hyper secretion of growth harmone
2) Hypo secretion of growth harmone
3) Hyper secretion of thyroxin
4) Hypo secretion of thyroxin

39. Rahul’s friends are suffering from some
diseases. Ritika is suffering from rickets, Satish
has haemophilia and Soumya has H,N,. Then
who can communicate disease to Rahul ?

1) Ritika and Soumya only
2) Satish and Soumya only
3) Soumya only

4) Ritika only

40. Refer to the given Venn diagram below and
select the correct option regarding ‘X’, ‘Y’
and ‘2’

N
A
O\\\Q

Three
chambered

1) ‘Y’ can be lizard, ‘Z’ can be tiger and there
is no such organism as ‘X’

2) ‘X’ can be bat and ‘Z’ can be ostrich
3) ‘Y’ can be snake and ‘Z' can be emu
4) There is no such organism as Z’
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HISTORY & BUSINESS STUDIES

41. Bhagath Singh, Jathindas, Batukeshwar and
others founded aRevolutionary Association
called

1) Hindusthan Army for Independence
2) Hindusthan Socialist Republic Army

3) Hindusthan Socialist Revolutionary Army

4) Hindusthan Kissan Movement Sabha

42. Choose the group of correct statements

related to Il Carnatic War

a. Battle between Nasir Jung and Muzaffar

Jung for the throne of Hydrabad Nizam.
b. Britishers helped Anwaruddin.

c. French helped Chanda Saheb under the

leadership of Dupleix.

d. Britishers defeated Nasir Jung in a battle
1) a,bandc

2) aandd

3) a,bandd

4) a,candd

43. The idea of Indian National Army (INA) was

Conceived by
1) Subhaschandra Bose
2) Ross Behari Bose
3) Mohan Singh

4) Aravind Ghosh
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44. Choose the correct of the incidents of Indian
freedom movement in a chronological order :

a. PoonaAgreement
b. Direct ActionDay
c. August Offer

d. Establishment of Forward Block Party
1)ad chb 2)badec
3yadbec 4 dabec

45. Choose the correct group of areas in which
Britishers introduced the Ryotwari system.

a. Madras
b. Bengal
. Sindh

c

d. Assam
1) a andb
3) b,candd

2) a,bandc
4) a,candd

46. ldentify the correct statements related to
French Revolution

a. Priests and rich class people are
exempted from paying taxes and led a
luxurious life.

b. Agricultural and industrial developments
were stumbled.

c. Count Cavour made a secret pact with
France.

d. Louis XVI of Bourbon dynasty led a
luxurious and extravagant life.

1) a,bandc 2) a,candd
3) b,candd 4) a,bandd

47. Choose the group of nations which belong
to Triple Alliance during First World War

a. Germany
b. Russia
c. Austria
d. ltaly

1) aandb
3) a,candd

2) a,bandc
4) a,b,candd
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48. The principle based on which the insurer is

liable only for those losses which have been
insured against is

1) Principle of indemnity

2) Principle of contributions

)
3) Principle of loss minimization
)

4) Principle of proximate cause

49. Match the items in List— A Entrepreneurs with

List — B Entrepreneurship
List— A
. Naresh Goyal

List—B
l. Infosys

. Narayan Murthy
. Dhirubai Ambani

11l. Balaji Telefilms

a
b. Kiran Mazumdar Shah Il. Reliance
c
d IV. Biocan

V. Jet Airways

a b c d
1)V v I I
2) IV Vv I I
3) 1l \Y I I
4) V Il v I

50. Metternich remarked “When France Sneezes,
the rest of Europe catches cold”. Identify the
most appropriate justification for this
statement

1) French revolution sparked nationalism

2) French revolution inspired world nations

3) The developmentin France ignited uprising
in Belgium and breaking away from UK

4) France became the leader of Europe

51. The Kannada speaking region which came under
the rule of Madras province in 19t century is
1) Raichur 2) Bellari
3) Bijapura 4) Gulbarga
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52. Match personals in List — A with appropriate
positions in List— B

List— A
a. Shaikh Abdulla

List—B

I. State
Reorganisation
Commission

b. Fazal Ali Il. Chief of Razakars
c. Sardar Vallabhbhai lll. King of Jammu
Patel and Kashmir

d. Qasim Razvi IV. FirstHome
Minister of India

e. Raja Harisingh V. Founder of

National

Conference

a b c d e

1) | \ \Y 11 I

2) Vv I \Y 11 I

3) V I I \Y 11

4) Vv [ \Y) I 11

53. Ildentify the group of Financial Institutions
with gives loan to small scale industries.
1) IDBI, IFCI, SFC, SIDBI
2) RBI, NABARD, IFCI, IDBI
3) NABARD, IDBI, RBI, SFC
4) SIDBI ,RBI, NABARD, IDBI

54. ldentify the correct group of Nationalised

Banks

1) Canara Bank, State Bank of India, Vijaya
Bank, Dena Bank, IDBI Bank

2) IDBI Bank, ICICI Bank, Karnataka Bank,
Dena Bank, Canara Bank

3) IDBI Bank, Vijaya Bank, ICICI Bank,
Karnataka Bank, Canara Bank

4) Vijaya Bank, Canara Bank, HDFC Bank,
ICICI Bank, Dena Bank

55. The correct statement that is related to French
East India Company is that it was,

1) Private Company

2) Private Company controlled by the French
Government

3) Officially a State owned company
4) Controlled by the French Merchant
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GEOGRAPHY AND SOCIOLOGY

56. The correct decreasing order of the
neighbouring countries based on the length

of the border that India shares is

57. Choose the right arrangement of mountain

1) China, Bangladesh, Nepal, Pakistan

2) Bangladesh, Pakistan, China, Nepal

3) China, Bangladesh, Pakistan, Nepal

4) Bangladesh, China, Pakistan, Nepal

ranges of India from South to North.

1)

2)

58. MatchColumn ‘A’ with Column ‘B’ and choose

Western Ghats, Vindhya Ranges, Satpura

Hills, Aravali Hills

Western Ghats, Aravali Hills, Satpura Hills,

Vindhya Ranges

Western Ghats, Satpura Hills, Vindhy
Ranges, Aravali Hills

Vindhya Ranges, Western Ghats, Aravali

Hills, Satpura Hills

correct answer.

a.

Downl oaded

Column-A

Kaziranga National

park
Sundarbans
Gir National park

Tandova National
park

i iv ifi

Column -B

i. Assam

ii. West Bengal
iii. Gujarat

iv. Maharashtra
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59. Assertion (A): Increase in population,
urbanisation, Industrialisation lead to the
increased use of fossil fuels.

Reason (R) : Over use of conventional energy
resources has resulted in the phenomenon
of green house effect.

Select the correct option from the given
alternatives.
1) Alistrue, Ris false
2) Aisfalse, R is true
3) Both A and R are true, but R is not correct
explanation of A
4) Both A and R are true and R is the correct
explanation of A

60. Choose the group of statements, which are
correct with respect to “Golden Quadrilateral
and Corridor Project”.

a. This project covers National Highways
with the length of 15,000 kms.
b. The project was started in the year 2001
c. Total cost of the proposed project was
Rs. 54,000 crores
d. This is the largest project taken up and
no country in the world has taken up such
project

a,bandc

b,candd

a,b,candd

a,candd

—

= T — ~—

2
3
4

61. Assertion (A) : Majority of paper industries
are found in West Bengal.

Reason (R) : News print paper is being
imported from Norway, Sweden, Canada and
the U.S.A.

Select correct option from the given
alternatives.
1) Atrue, R false
2) Afalse, R true
3) Both A and R are true, but ‘R’ is not the
correct explanation of ‘A”

4) Both A and ‘R’ are true, but ‘R’ is the
correct explanation of A

.conml
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62. The total population of an area devided by
its geographical area gives
1) Population Index
2)
3) Population Density
4)

Distribution of population

Population growth rate

63. MatchColumn ‘A’ with Column ‘B’ and choose

correct answer.

Column - A Column - B

a. Rawat Bata i. Thermal Electricity
b. Barauni ii. Wind Energy

c. Nagarcoil iii. Automic Energy
d. Baramar iv. Solar Energy

a b c d

1) iii [ ii iv

2) i iii i iv

3) iii [ iv ii

4) iv iii ii i

64. Section 25 of Indian Constitution provides
following right to Citizens of India

1) Guarantees educational facilities to all

2) Guarantees reservation in political field to
scheduled castes and tribes

3) Guarantees reservation in the employment
sector to scheduled castes and tribes

4) Guarantees free entry to all people to social
and religious places

65. The main cause for Land degradation in
Punjab, Haryana and Western part of Uttar
Pradesh
1) Intensive Agriculture
2)

3) Deforestation
4)

Over Irrigation

Mining
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62. 2.0TH PR TFITYL 2.3 WIT BOZCHR,
& PRIReBT 3eZN0T FRNITN WY

y
2
3

umomé 23
zﬁﬁomé 20T

)
)
) RTAOTZ
)

4) wIRosTy B3YEEIR T3
63. ‘A’TEo0y, ‘B’ Tedcdronn Reoh, BORT
NZTTR, SHTRR.
Ty - A T3 - B
a. SOy P i. Feherer 53::‘»53*’
b. 2R ii. WIBY
C. JONTTONST iii. wrwdd
d. oot iv. ﬂadad)és@
a b c d
1) i i ii iv
2) i iii ii iv
3) i i iv ii
4) iv iii ii i

64. RT3 OGS 25 Ve DPOZN 35‘4 Senoeson
QeRTT &60&

1) 2QON® FBT 5@3955 CovEpk)

2) ovzsecd Ee3BY TOIR 28 I TOIF
DONTTRON WERIST0E @@2,,55

3) NTVREMBOODTY TOSF 2308 T VOSH
TONTTRON WERSDE @@zﬁs

4) DY WIOMR TOTF LI TOWF T FEOTNT,
TedAT @[T

65. Towees®, TOCIRED Ty ¢0IT TeIW Ty
nne Pe @==3R (Land Degradation) :méDs
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66. Match Column ‘A’ with Column ‘B’ and 66. ‘A’ a.;"ééﬁc;&raoaﬁ‘B’ﬁéép&:?»gz ROV, TODT
choose correct answer. ngsm‘% 3033528
- ) .
Column - A Column - B 5% -A 5@5 -B
a. group of people i. Movement a. 3 RTLITLIST i. 3SoTP
pelting stones oy
b. people assembled ii. Campaign b. &2 N 243 oS i 08RO
near a theatre to
. WP BeOTHT W
buy tickets
c. c3rcRcdRomd iii. deoR
c. Agroup protesting iii. Riot
against a project QT WHT Fo030303
in a peaceful way T3y
d. Agroup of people iv. Mob d. ©08) PRRDBIY iv. 3808
involved in bringing 2383 =8 3o
awareness
a b c d
a b c d
1) i iv [ ii 1) i v ! .
2) i i ii iv 2) i i iii iv
3) iii i iv ii 3) iii i iv ii
4) iv ii [ iii 4) iv i [ ifi
67. Choose the group of correct answer with 67. afédsss TRVHT® [RHINCR ToWORATOZ
respect to the statements about South West 2003RG V3T mowgﬂ @03% SRE.
Monsoon

a. m:éus TTHIN BILPREI :bgwsael i
%&% TRRRT ZRLINTON TR SN
b. B (RTII, ST FR[CeRTN T3edT33

a. Trade winds transform as South West
Monsoon after they cross Equator

b. These enter India in two branches

c. Most of the country’s region receive rain c. 1R 3;33%@‘35’4 SRTHIRA OUT
during South West Monsoon except WI3eT Onnen ¢ DODIR
Tamil Nadu d. By TS Ty nEey WHIoh BSeR

d. The western region of the Western Ghats

TRe3 Qomdy 330G
is called rain-shadow region

1) bandconly 1) b cxRg
2) a,bandc 2) a, b ¢
3) b,candd 3) b, c== d
4) a,bandd 4) a, b d

21
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68. Match the nations and the respective names
of cyclones and choose correct answer.

2 o0 T

N —

E =

A
India
Bangladesh
Myanmar
Oman
a b c

ii iii i
ii iii iv

. Thane

Giri
Mujan

iv. Jal

69. Match the following and choose correct answer.

Animals/Birds

Indian Rhino
Hornbill

Asiatic cheetah

Gangtic Dolphin

a b c
iv ii i

iv i ii
iii ii iv

Category of

Existence species
Rare species
Extinct species

Vulnerable
species

iv. Endangered

species

70. Arrange the area covered by types of soil in
India, in increasing order

1) Laterite soil, Red soil, Black soil,

Alluvial soil

2) Laterite sail, Black soil, Red soil,

Alluvial soil

3) Alluvial soil, Black soil, Red sail,

Laterite soil

4) Alluvial soil, Red soil, Black soil,

Laterite soil

68.

69.

70.
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SeBnvsh, =y BoRTRS:IAYR,, B
TociRT YoITER, wok, TRA.

A B
a. (»c3 i. o8
b. omze3 ii. Nd
c. mo&méc@ iii. Sooees®
d. e iv. weof
a b c d
1) iv i i iii
2) ii iii i iv
3) ii iii iv i
4) iv iii i i

k=1 w%ﬁﬁm‘% 3P0N2, TOCINT mgds:%
eo&ém@.

e/ |, Tewns
W3ZT G
a. VOROLRF 8é§.rae i. OITRIT
(qﬁcomm@ﬂ) EStAN
b. TFF RS ii. S3B000T
T
C. LTI T iii. wHwre Tdew
d. nome SR @O iv. BYATOURIHS
T
a b c d
1) iv i i iii
2) iv i ii iii
3) iii ii iv i
4) iii ii i iv

IRCITY DN DeIeH Twepne Towdods ¥

TTRLE JTYTT SBRCTED FT BOCIRT ol

TR,

1) ang@sdéw e, 30 ey, T ey,
dsﬁém ey

2) CRETEE WoeR, TF) WY, FOFY Weay,
da%;;m ey

3) YL e, TP Ve, B0 EW, CRLITET
Foroy

4) ﬁbﬁéﬁb e, FOFY e, FF) WoeaY,

2o} 2} £

CRLITET TR

Court esy

NTSE


http://cbseportal.com/
http://cbseportal.com/

Downl oaded From : http://cbseport al

SAT(K-10)

POLITICAL SCIENCE AND ECONOMICS

71. Match List 01 of Heads/Ministers of Executive
of Indian Government with List 02 of their
“functions’ and select the correct answer
using the codes given below.

List - 01 List — 02
(Heads of Executive of (Functions)
Indian Government)
A. President i. Chairperson of the

NITI Ayoga

Appointment of

Chief Ministers

to States

Appointment of

Governors of State

Presentation of

Union Budget

v. Act as Ex-Officio
Chairperson of

B. Vice President ii.

C. Prime Minister iii.

D. Finance Minister iv.

Rajya Sabha
Codes:
1) A-i, B-v, C-—iv, D —ii
2) A—ii, B—iii, C-—iv, D—i
3) A—iii, B-v, C-i, D-—iv
4) A- B —ii, C —iii, D-—i

72. List-Aisthelist of Regional Parties, List— B
is their existence in the State and List—C is

their symbol.
List— A List- B List— C
(Regional (State their  (Symbol)
Parties) existence)
A. Shivasena E. Tamil Nadu I. Arrow

B. AIADMK F. Maharashtra J. Two leaves
C. Peoples G. Bihar K. Ink pot and
Democratic pen
Party
D. JD(U) H. Jammuand L. Bow and
Kashmir arrow
The correctly matched set related to the above
table is
1) AFL, BEJ, CHK, DGI
2) AFK, BGIl, CEL, DHJ
3) AEl, BGK, CHJ, DFL
4) AHI, BGJ, CFL, DEK

Downl oaded From : http://cbseport al

.conml

72.

23
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=

A.
B. a0a8x203 F.

C.

D. ¥®(c%»)  H.

cazsssax 0D WX
= = =

w&é 01 SYT LPITT ITTFOTW ToO3WFONT
ma@anm‘% a'jég 02598 =8 EpenTteloletalal
RROVA, TOCINT YUZTT 63033&033534 .

=y - 01 = -
(3532 BT (TRORFNY)
TOCIRVEONT msasx@da)

A. ca%ﬁ.% i
>

Qe s3ReNT
@zségda

oW NS
m@moﬁ%ﬂ
ﬁeme

TO&NG Tos o0

o) )
SezH3

Feor Wl
vlelecty]

V. % T30
esz;ég ooN
FORFANT T

B. mw—mgaé ii.
=

TR o, ii.

T M3TT> V.

e:soﬁséﬂféo :
1) A—i,
2) A—ii,

B-v, C-
B — iii, C—iv, D—i

3) A—iii, B-v, C—-i, D-iv

4) A-iv B —ii, C —iii, D—i
Ty W oSaeD TWedT Ty IR, Ty W oHQ
@Qmﬁo @~3w®d>w cm%rie;o 0Ty Ty 'R v
ORYNS z&é 71@:3 TeIoT, accscmnd

- "‘é,.% b mé -2
(R73cd3 (ea,.)scs@cbs (2'3%)

[Fneo) ooz m?o)

EXvrar) E. 3@:%@:3: I
mmmg J.

iv, D —ii

3

W

Bofetey)
QBN
2

BRE D3I
SeR

Dy
msg VD10
TOooIN

QeTJ/SF
B3ndus
Tk

G. WS K.

zsamé L.
wasa wé 3

Foedw "’é.%n" *’ouo@mzog
RROTOSESRMT oy

1) AFL, BEJ, CHK,
2) AFK, BGI, CEL,
3) AEl, BGK, CHJ,
4) AHI, BGJ, CFL,

DGl
DHJ
DFL
DEK
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73.

74.

75.

Downl oaded

First Indian Woman President is coded as (P),
Prime Minister as (Q), Governor as (R) and
Chief Minister as (S) and their names are
given below.

a. Indira Gandhi

b. Suchetha Kripalani
c. Prathiba Patil

d. Sarojini Naidu
Which one of the following choices represents
PQRS order ?
1) cabd

3) dabc

2) dcba
4) cadb

Regional Co-operation Organisations of
different nations are given below.

i. SAARC

ii. ASEAN

iii. EuropeanUnion

iv. AfricanUnity

Identify the correct choice of these
organisations in the chronological order of
establishment.

10, i, v, i
2) iv, i, i, i
3) @i, i, i, iv
4 i, v,

Read the following statements and select the
correct option.

Assertion (A) : The Governor of a State
cannot be dismissed by the Chief Minister.
Reason (R) : The Governor of a State is not
elected.

1) Both‘A’and ‘R’ are true and ‘R’ is the correct
explanation of ‘A’

2) Both ‘A’ and ‘R’ are true and ‘R’ is not the
correct explanation of ‘A’

3) ‘A’is true but ‘R’ is false
4) ‘R’ is true but ‘A’ is false

From: http://cbseportal
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PITIT TF & Umg)zség 0=, (P) wote,
TeR oIeHTy, (Q) 2oTR, TEFTOTY, (R)
ROTR, ToDTOZRTTY, (S) wome gner®
TRRRNT, V=T é:bmeéﬁ:gl 33 3SR derRSNT.

a. YOT® Mo
b. ez %&ma
c. T3y Teweer
d. Z3eed Tood)
R INIYINSY B esoSa&om PQRS3=0ERy,
TR ?
1) cabd

3) dabc

2) dcba
4) cadb

DG TR TREedT ATTS BOFRINATY, B4
SR QereRN.

i. T

ii. NP

iii. 03B ReWODTT CRRICHST

iv. 9B OB

3 FoPulne MTIFAROR RUIRTZTY
WeeRT ooy, L.

1) 0, i, v, i
2) iv, i, i, ifi
3) iii, i, ii, iv

4) i, v, i, i

3 FONT Teodney, LOO 3Ty HOosRT
e:soﬂsﬁoﬁaﬂo‘=l 302,
BTN (A): TR TOITROTRY,
TDTOGNE IRBIRRLBRHZHRY.
13373 (R) :mz:zscs TRV
BTN STNR WY,
1) ‘A 38 R 208 RO Tone

R, ‘A ST 30030T QWTHBOSIDNT
2) ‘AR R 0B B0 STT

‘R, ‘A’ T BO030T QWTBODY
3 ‘A %0 ©TT R I
4) ‘R m0 &I ‘A’ 3T
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76. Which of the following statement/statements
about Anti Defection Law is/are correct ?

A. The Constitution Act of 1985 is popularly
known as the Anti Defection Law.

B. Independently elected member of
Parliament or a State Legislature will not
be disqualified if he/she join any political
party after elections.

Choices:
1) Only A is correct
2) Only B is correct
3) Both A and B are correct
4) Both A and B are incorrect

77. Calculate the Male Literacy Rate from given
dataand choose the correct answer from the
given choices.

Gender Total Persons Literate Persons
Male 1350 981
Female 785 435
Total 2135 1416
1) 78.5% 2) 66.3%

3) 55.4% 4) 72.6%

78. The following are the major changes that
occured in agriculture as a result of Green
Revolution in India.

a. Use of high yield variety seeds in wheat
grains only
b. The poor and marginal small formers
avail the benefits of improved technology
c. Construction of granaries, cold storages
warehouses to store the surplus produce
d. The improved technology of Green
Revolution was restricted and practiced
in Northern States of India i.e. Punjab,
Haryana, Rajasthan States
Which of the above signifies post Harvest
Technology of Green Revolution ?

1) aandb 2) bandc
3) candd 4) danda

Downl oaded From : http://cbseport al
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76. %59,08T QTR TOWTWR TOWOPRATOS 33 FBNT
3= Rewd/BeeIN BOBRNS ?
A. 19853 (033 ZONTOR T0WTIOI0 mﬂ o33
AT TOWT Q0T WRHOHRRORT.
B. XZogmen wodReor Toxe/Tew;
ZPTRONT ITEFT> WemHBo» $o3T
3P T3e TR TR, Bezrdneord
WTTRY, WTRTDRACTTOSY.
e:soﬁ%ﬂ@o :
1) AS03
2) Bx»g
3 A3
4) AR

%0
%0

B a3&» %0
BoOBR 33

77. 32 R ARTHLE TILOIRYOT LIRS TFTICH

agsmewm& FOBLROWO T3, JCRTHT
eoﬂa&r{@ocﬂ TOO3RT emgdwaﬂaol TS,

oon XY z:aﬁxoa% T3 ST zzaﬁxoa%
SHTORH 1350 981
&L 785 435

Wt 2135 1416

1) 78.5% 2) 66.3%

3) 55.4% 4) 72.6%

78. (RTZTY TAT> FTOIOH TOFRETRN FRORY

LVOET udwﬁ%ﬂ@ﬁaﬁl 33 3$R DeTSRNS.

a. RRLHOD WIITICRY [ Tl
RVHTO WeWNRS WPTOONDd

b. & =3y ey GBOR R0 ToRFT
Y BRTOINTOZTOWN

C. ¥RF NWRHIOH TORTHEMN LVMRLINTD,
éﬁ’émémdﬁe;o ATREEINPOT)

d. Tow’, TOCRED, mzzm@ﬁ F00TRT YT
RTBT TN [ g0 30‘3}3@@&3
WEBOITVOW S

3 HeOIYNYY BRYH BAD WS Dl
etciela] 30‘3}%@5% ToWORAT ?
1) axdR b 2) b ¢
3) caB d 4) d=dB a
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79. Whom would you consider as unemployed

related to the following situations ?

A. Afarmer in afarm produces 100 kg paddy
in one acre of land during every season.
In addition one year his adult son Raju
joined him in farming. But output

remained the same.

B. Raghu has income by his huge property

to lead comfort life. So he does not work.
1) Rajuis unemployed
2) Raghuis unemployed
3) Both Raju and Raghu are unemployed

4) Both Raju and Raghu are not unemployed

80. Indicators of development are given below.
a. National income
b. Per capitaincome
c. Life expectancy
d. Educational achievement
e. Rate of women’s job participation
f. Standard of living

Which of the above indicators are measured
in Human Development Index ?

1) a,b, c

2) c,d,f

3) a,b, e

4) d, e, f

.conml
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79. 3 FIENT FQTeINOR TowoRATOZ e
C3TR, ALRALNRLOT TONRR0 ?

A.

B3Ry 3F, WOt 938 WWRRRY I
WIRITOR 100 3.28. PIS, LIRS
TRREITT. B=T RN 2.0 THE W=
TeHF, R T BRR 81 LLTYTIORY
BRTNEROT. TS LOTTR Teg Ve
Sjichy

. TP W, BeSS AEviarestfach) 33, ézzéésﬁ

©23,0200T emo&ﬁﬁoel ﬁ@fp%@ﬁ. TN
QT C350YTIC éoﬁﬁﬁ:ﬁl TRREY.

1) oo adadraéeﬂ

2) O30 ?Odac&r%m

3) Doy WB TFO %zagjdra adod.raémmﬂo

4) Doz B T faa%tm adaci@seﬂmfg

80. @2@%&@03: mwsnmﬁl 33 3SR BN,

a.
b.
c.
d.
e.

f.

Uaééeofo STOR

3O

Q0eg 2 WCNTVRNY

%g 3% P

T&WBLo1T FORT PRSI TS
eI

3 HORYNYY CIPRTRY, FRET SVHO
ARuchY woHeRmEs 9

1) a,b,c

2) ¢, d,f

3) a,b,e

4) d, e, f
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81.

82.

83.

84.

85.

86.

MATHEMATICS

The area of two concentric circles are 1386 cm?
and 962.5 cm?2. The width of the ring is

1) 42cm 2) 3.8cm
3) 3.5¢cm 4) 2.8cm

On increasing the radius of the base and
height of a cone each by 20%, then the
percentage increase in the volume will be

1) 20% 2) 40.8%
3) 60% 4) 72.8%

If -4 is a root of the quadratic equation
x2+ px —4 = 0 and the equation x?>+ px +m=0
has equal roots, then the value of “m” is

25
2) —/—
) 4
-25

4 —

Statement - I: If 4/54.@ =\/;+\/§ then

X +y=5 and xy = 24.
Statement - Il : The square root of (5 — 24)

is (\/5—\/5)
1
2

3
4) Statement | is right, but statement Il is wrong

Both statement | and Il are wrong
Statement | is wrong, but statement Il is right
Both statement | and Il are right

)
)
)
)
The value of cos?5° + cos? 10° + c0s215°+....+
€0s285° + c0s290° is

|
1) 95 2) 9

;
3) 8—

P 4) 8

If (x + a) is the factor of the polynomials

(x2 + px + g) and (x2 + mx + n) then the value
of ‘@’ is

n-q m-p
1) 2)

m-p n-q
3) . 4) P

m-p q-n

.conml
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DT> DFFORLOT [TNY QAT
1386 cm? 33 962.5cm? &7, TENE SDIT
033

1) 42cm
3) 3.5¢cm

2) 3.8¢cm
4) 2.8cm

BOBOR TG &5, T SIS, eeR 20% S
BTN, OIS FIFOTY LVOLRT RPT
e Teves ¢
1) 20%
3) 60%

2) 40.8%
4) 72.8%

X2+ pX—4 =0 TN TRCTTLIT 2,000 TRV
— 4333 X2+ pX + M = 0 TNCITOT RO
BHTNG3, &R “m” 8 3S

1) —4 2) ?
—25
3) +4 4y —

Rews —1: 4/54.@ =\/;+\/§ B3 X+y=5

DIy xy =24
Beos —I1: (5-24) 3 I oo

(\/5—«/5) &SN,

1) Ted | DD 1l HTBER FOBPNY

2) Fewd | mOOIWPNY, 8TT Tewd I
felewnlale

3) Bewd | =B Il TR BOOINS

4) evd | ROCINT, BT mevd I
ROO3PNY

c0s?5° + c0s?10° + c0Ss?15°+....+ €c0s?85° +
€0s290° 03 3¢3

}
1) 95 2) 9

i

3) 8—

5 4) 8

(O +px +q) 02 (6 + MX + N)WRDTRRCIRS
WIZSFR (X +a) $B3 ‘A’ B3

n—q m-p
m-—p n-q
q—-n m-p
3 mip 4 4n
Court esy

NTSE


http://cbseportal.com/
http://cbseportal.com/

Downl oaded From : http://cbseportal.com

SAT(K-10)

87. The lowest common multiple of two numbers 87.
is 14 times their greatest common divisor.
The sum of LCM and GCD is 600. If one
number is 80 then other number is

1) 600 2) 520
3) 280 4) 40
88. The shaded portion in the given Venn diagram 88.
represents
P Q u
1) PruQ 2) PP
3 (Prrar) 4 (Pruay
89. In A ABC, the altitudes AL, BM and CN are 89.

intersect at ‘O’. The value of AN x BL x CM is
same as

1) BN x LC x AM 2) AL x CN x BM
3) OL x OM x ON 4) OC x OB x OA

90. If the letters of the word “FATE” are arranged 90.

as in adictionary without repetation, then the
rank of the arrangement of “FAET” is

1) 12 2) 13
3) 14 4) 15
91. There are 12 points in a plane of which 4 are 91.

collinear. The number of straight lines and
triangles can be formed from these points
are respectively

1) 60and 220 2) 66and 220
3) 65and216 4) 61and216
92. In A ABC, AC = BC and AD L BC. The value 92.
of AD2-BD?is
1) 2BD x CD 2) 2AC xCD
3) 2 (BD +CD) 4) 2 (AC +CD)

28
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DT xoaﬁéﬁeé O.R.Y. F) OINY 30.7.6.3
14 daéd. 33 zos%ﬁe? DY, DY 0., NP
=A% 600. YRRYY womd Bosh 80 wmd
olR0w Boss

1) 600 2) 520

3) 280 4) 40

Icit ey ﬁsﬁ 3RO BRAVAT (shaded)
wend

P Q u

1) Prug 2) PO

3 (Prra) 4 (Proa)

AABC @ AL, BM =3 CN 233nsd ‘0’
JQ JoTB elwIR. TomemS AN x BL x CMA
HTTOTOT

1) BN x LC x AM 2) AL x CN x BM
3) OL x OM x ON 4) OC x OB x OA

“FATE” ITT @30nds, RJIoemdrnd
33ee3RY  FHwn wEecRmen, “FAET”
WIONY BB TTI)

1) 12 2) 13

3) 14 4) 15

TIOROHT 12 WoTWAYY 4 WoTdNRL
HIBeaRNSTNES. 33 womnm& LUTO3RCNR
SWTWTHTRT [TYTeld Ty SLHBNY 305132S
BN

1) 60593 220 2) 66032 220
3) 6533216 4) 61303216

AABC o9 AC=BC =3 AD L BC,sx3
AD2-BD? & 39

1) 2BD x CD 2) 2ACxCD
3) 2(BD+CD) 4) 2 (AC +CD)
Court esy

NTSE


http://cbseportal.com/
http://cbseportal.com/

Downl oaded From : http://cbseport al

SAT(K-10)

93. A box contains some black balls and 30 white
balls. If the probability of drawing a black
ball is two fifths of a white ball, then the

number of black balls in the box is
2) 12

4) 30

94.

P

In the given figure, PM is a tangent to the
circle and PA = AM then,

A. APMBisisosceles

B. PA x PB = MB?

1) Ais true, but B is false

2) Bis true, but A is false

3) Both A and B are false

4) Both A and B are true

95. The correct relation is

A B
i. a,b,careinG.P. a. 2b=a+c¢
.. . 2ac
ii. a,b,careinA.P. b. a+c=——
b
. A
iii. a,b,careinH.P. ¢. b’2 =ca
d |o=(ce|)}é
1) i—c, i—b, iii—a
2) i—c, i—a, iii—d
3) i—d, i—a, iii—b
4) i—d, i — b, iii—c
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93. %OT BRTWY IO B, Soroned <3 30 WY
dorones. 3, o, Srtobos RogERechIcks

20 ory, hosnss FouReandcs 5 Jags,

¥, sdone xos
1) 6
3) 18

2) 12
4) 30

94.

P

a2 @R PM 583 zZ3rsmend. PA = AM
=wd en

A. APMB T=o0enas Sp0wsend.

B. PA x PB = MB?

1) ARDOC3RNT, B3 BEF)

2) BROOIPNT, ©TT A )

3) A BRTW SN

4) A B OT® BOOINS

95. TD RROWDT BOWOHR)

A B
i. a, b, cned a.2b=a+c
nordee3s 3R
2ac
ii. a,b,c b a"'c:T
TRN03T 3B
]
iil. a, b, c n&® c. bé =ca
ToEE 3R
d. b= (cau)}é
1) i—gc, i—b, ii—a
2) i—c, i—a, ii—d
3) i—d, i—a, ii—b
4) i—d, i—b, ii—c
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The Standard Deviation (S.D.) and mean of
two groups A and B are given below.

Group Standard Deviation Mean
A 3 70
B 4.2 60

The true statement among the following is
. Ais more consistentthan B
Il. Bis more consistent than A

lll. Ais more efficient than B

IV. B is more efficient than A

1) Only I and lll are true

2) Only land IV are true

3) Only Il and Il are true

4) Only Il and IV are true

= T — ~—

The angle of elevation of the top of a tower
from two points at a distance of ‘a’ and ‘b’
(a > b) from its foot and in the same straight

line from it are 30° and 60°. The height of the
tower is

b
1) a3 2 7

1
3) Jab 4) Jab

The condition for points (a, 0), (0, b) and
(1, 1) lie on straight line will be

1) ab=1 g 2Fb_,
ab

3) a-b=1 5 2 4
a—-b

The ratio of income of two persons is 11 :7
and the ratio of their expenditures is 9 : 5. If
each of them manage to save< 400 per month
then sum of their monthly income is

1) 3,600 2) 23,200
3) 22,800 4) 1,700

fy=a+a?2+a®+
the value of ‘@’ is

.. @ Where | a| <1 then,

Y bd
1) 1+y 2) 1-y

1+ _
3 —~ 4 1Y

Y y
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A3 Bmone Ingt Suos @
HooROnYo B ¥NTOIT.

nooR) TRNT VWX BTIRONES
A 3 70
B 4.2 60

éa FINTINYY BOOSRT Bewdnwd
. Ao3» Bnos éa&: Ndé [R0DT
B o3 A no3 daﬁo ~d§ ROT
III A o3» Bnhos ézsb 5363 SRONT
IV. Bosn Anos ézﬁo wsé s¥plelalal

RE N
2) 13 VIR =0
3) 1133 1l IR, 50
4) 13 IV 303 70

RRIPYTT HTAOT ‘a’ D3I ‘b’ BZRTTIDS,
(@ > b) .08 FTHOLT TR WOTNRYOT
¥l efo] 3:@05333:01 NRATN VORMS
WRE dReTRY) Tpwen  30° =3y 60° w3
RRePYTT 233

b
1) ays 2 7

1
3) Jab 4) Jab

(@, 0), (0, b) =3y (1, 1) Woored  woTe
Hoeesdon® BTuemnnd AthE AOT
a+b

ab
ab

a—b

=1

1) ab=1 2)

=1

3 a—b=1 4)

QYT B3NS TE Ioned RV ek
T=seee 11 17 303 9= ﬁzgmf TR 9: 5
SNT. BT T oneh oo T 400 LYYTOD
TRATT, WTT ONET SWCHT wid) [BeY

1) 3,600 2) 23,200
3) 2,800 4) 1,700

y=a+a’+a+..0 9 |a|<1s33, ‘a's

33
A ¥
1) 1+y 2) 1-y
1 _
3 —% g 7Y
Y y
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SAT(K-10) 000
e.*;z;z@m@ﬁ TRBIND
1. B L.FT.©0. (OMR) @083 TEF Tonw, 100 TZAPTVE T, RRFORTY, N
QeTeRNT.

2. DY TJINH Fw@OD, Jde JINR WO WOFIT.
3. WoeTy WIBHORY,
« TS THODZ, WNTRFTZWOT D0,
* LT 0. (OMR) PuY BE B, BoLB RO BROWH! YWITH/I, TS
QEBLONT TR, BING Fyd ZOCHT WOITT BB, e /BT TvoOD Lwe*
TWOWOET T B[R YOTOIRENA THTVD THA. 2, YITIR, 3w SRRT 3ed

LDTOOOWAL WTTING T 03R)TIe @57@5 ANOSIEN IV bo.0wr.5T°.  (OMR)
WD BEFOH eSS TPBBRTV.

* QU @ 20 ¢ TJODH IO WITR) 3RO, 3 SNFY  L.odTF.ET. (OMR) BT
3X0. 30 =007 B3 068 e /BFY) S TOWOLT Ty YTAERENY FBIRY, TOTIB
RRRDRP)TR. B3 TSR SWRCOATOZ BOTPRF woN S00WLICR.

200D @ @ @ (3T NTOTTFH TI)

4. 20T TJR YUITWON 2.0TYOT T, BINTRY, WD BRRTY WOIZ WITRTI,
BLOWD TONESR WOINTR), VT TN,

5. £.0%7.80°. (OMR) [RTY INOI ﬁ@%ﬂd@, WERE ToNw BRBR ﬁaee?jmd%da 3TT3¢
T BRBLER.

6. T0eTY WRH WONT JI0IT YLIOAT . 0w*.&3T°. (OMR) eI, 3RBR daee%md%@ﬁ
3TTI¢ LRTITT),

7. TOeTy  BRBRASRYN, 6‘%@%@3%569, dfaa%@@ TBRTZEIONT),  AIR,R)TIC @@%@F
QTFTEONGT), SYTR, JREQAT.

8. ¥wo3 3333& BEENYY cdooeydde xmﬂéﬁ%ﬂa mcgpé)%)d@) 53% WFOD YONT TRTOZTE
D0STNWOTD  SPCNIeH.

Note : English version of the instructions is printed on the front cover of this booklet.
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